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\ Date: 09.30.2019
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. omework - 4th Grade Weekly Spiral Review (09.30.2019)
For cred}t,‘pléase use CUBES and show all of your work.
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1. There wer( 00, 685 coples 7of a music CD sold. How lsj 200 685}wr1tten in words’f

AT ' -Seventy-two-thousand, six hundred eighty-five

\““*JB’} —Seven-hundred-twenty-thousand;-six hundred eighty-five

J 17
L+ Seven m11110n 4wenty.thousand, six hundred eighty-five

Seven million, two hundred thousand, six hundred eighty-five

' M1n1van7:§19 599 IR
- Car:$20,099 - gﬁ’é?{“ 0o
. SUV: $20467 857 A

Which veh1cle has a price thart:;&G $20 00
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Truck

G. Minivan

H. Car

J.  SuV

. T
. S -
aaaa v,

3. Joey works at a company with{ 109 263 employees aWhlch answer ch01ce has the same value a§ 1

(109,2637)
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Mark your answer e— AU
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?"\ 10,000 + 9,000 + 200+ 60+ 3 § "f i -
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DL 10,000 +90,000 +2,000 +600+30 . =, 2; {2 )
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4,  What part of the model is shaded?
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5. How would you write,two and four tenths?
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Total oi;7 7, 093 502 pegple”watehed a soccer game on television. thch of the followmg
has the sdiie value a8 7;093,5022 % ,
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book $4.75

”. ¥
pole $10.50 s i :
n t 1.25 3 3
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Water samples from a river contained an average 0f/943.52 bacteria per milliliter. How is this
number Wntten in expandcd notat10n‘7 R

(9 x 10,000) + (4 x 1,000) + (3 x 100) + (5 x 10) + (2 x 1)

(9 % 100) + (4 x 10) + (3 x 1) + (5 x 0.1) + (2 x 0.01)

(9 x100)+ (4 x 10)+ (3 x 1) + (5 x 10) + (2 x 100)

T (9% 100) + (4 x 10) + (3 x 1) + (5 x 0.01) + (2 x 0.001)
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9. Lance rounded 4,018,46‘3\é o the nearest thousand. What is 018 463 rounded to the nearest thousand‘7

A. 4,000,000 z e L
4 013 b
/ Y é/‘ | E Lﬁj %m"’}

B. 4,019,000 b

TR

4,018,000

R

D. 4,018,500 AR A

¢ The digit 4 has a value of (4 x 100). /

H.. The digit 8 has a value of (8 x 0.1).

" The digit 2 has a value of (2 x 10).

11. Three hundred thousand, five hundred fifty-three. Choose the con'ect%stan ard number

£

A. 355,003
B. 3,553
C. 300,530

300,553
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12. Jack counted 1 095’ 2i8wbeax;\73nd Connor counted one million, ninety-five thousand twenty-eight beans.
Which place valiie ISW when Jack and Connor counted thelr beans?

F. ones

hundreds

ten thousands
J.  millions

13. Your teacher gives the fol ;lcmng\mstructxons round each number to the nearest 1,000, Whl?t{ .
number does not round tg tg 157 000‘7»‘
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15. There;was.a.poll taken to find the number of students that preferred math over spelling. =",
94, 263 016 s jgdents preferred math. Which of the numbers below has the same value s 894,263,016%;

Y

X Eight hundred ninety-four billion, two hundred sixty-three thousand, sixteen - %




